Geometry Honors
Chapter: SIMILARITY

Chapter Review Packet #2

1.

2.

a.

b.

c.

Prove that the two figures are similar by finding a sequence of transformations that maps one
onto the other. State the sequence. Be sure to write each transformation in coordinate

notation.
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Determine whether or not these triangles are similar by finding the
ratios of the lengths of corresponding sides.
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A(-6, 5). B(-4.5, 2), C(0, 5) and D(1, 2), £(2, 4), F(5, 2)
A(1, 1), B(1, 4), C(6, 1) and D(-4, -4), E(-4, 0}, F(3, -4)
A(-5, -1}, B(-2, 5), C(1, -1) and D(2, -4), E(3, -2), F(4, -4)
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3. Apply the dilation D to the polygon with the given vertices. State the coordinates of the image
points. Plot the preimage and image. State the scale factor.
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If you drew lines GG', HH', and JJ, on the graph for Problem 1,

E -3

L

where would the lines intersect? ( 0 \ 0 } This point is called the
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If you drew lines LL', MAF, and NN' on the graph for Problem 2,
where would the lines intersect? { 0, 0 )
4. Determine if the two figures are similar using similarity transformations. Explain.
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For #5-7, find a sequence of similarity transformations that maps one figure to the other. Provide the
coordinate notation for each transformation.
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Which transformations will not produce similar figures? Select all that apply and

explain your choices. Chstees B and E};‘fffjw ﬁ@M
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LCDE maps to ASTU with the transformations
@Y= =2y -2)— (35, 3y) — {x. —).
HCD=a+ 1L, DE=2a— 1,57 =2b+3,and TU = b + 6, find the values of a and b.
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Figure CDEF is similar to figure KLMN. Which statements are false? Select all that apply

and explain why.
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11. Extra practice for 12.2: Do hw section problems: #2-12, evens.
See 12.2 hw key for answers.



